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(1) Horewore 4, p-.329 | |
P(n) is the stetement that P42t o +0n’ :[ - [nﬂ):‘ for the positive inkgec n.
,' =

a.) Whot is the statement P(\)?

,P{{) 15 the statement 13- [H(H-l)]l
2

b) Show thod P('l) ts true ; CO’mPle:H‘nﬁ the basis 54?-? of +the proot
2= and [a(m)]l: 3
B!

P(l) Is 'l'me, becomse both sides =f P(L) are the same.

c.) whot is the inductive ha{pa«%‘ncsfﬁ?
“The induchve hY?o—i-hcsis s P{K) whicsh Is the #o#€m€n+ thodt

P2+ ..+ k3. [k(mt)]l'
2

d) What do Yyou meed to prove 0 the Tnduchve s%eP?

Wwe  meed Yo show +hot P(K) imn?”ﬂh ?[K‘H) , whare K Is o Posf{”!—‘le ird'caer,
d to show hat the inducine hy pothesis PR imphies that
(x4} im-l}]z’ '

y

Tn other words we nee

3 3
Vg2 b+ KO (k) = I

here you vse the induchve hypathesis.

f;) Cofn-,Ple%e Hhe hdude skep, iden“r\}}ﬁna where You
N i 2[ 3
e bowe }ii o f K3}+ (eet)? =) [k [k+1) !-r [e+)” =
— e J
i E— ﬂ‘gtb\’a

= by nduckive hypothesis
(Kﬂ}" [K’*+q [K*H)]' (K—H)l[\(l-\-qk-t?ql

12 (K-H)l N . 4 (K'H“)B . Kz. [K"“‘.}l".' & h‘(-{-l)a; )
b 4 s v LA o
Javtor ovt (K413

. (k4)? (Kn}l _ [(KH) {mz)]l as desived

‘ 4 2
'g') Explain why thest steps show thot s formula is true whenonr p s o posihive infeger-

e have compleied. both the  bais step and Fhe ih;lucﬁ‘V_t shp , S0 by myodthemadical

induckion , the shotement is +rue  for every positit integer n

372
@ We vse the {anmulq P4 Pk :[""(“*')] for n=leo
2

\3+;_3+..._\.x003= [Ioo x ]oql: ,[5050:11:
2



(3) Lt P(n) be ihe stotement that

l .
l e ko,

———— -0 + I = n -FOr _H_} Qb' e in eor no-

| 2 ax3 ninkl) nil ° P '

BASIS sTP. e prove that p(1) is true

?[1) 15 +he statemment ot 1 = 1
: | %2 i+

Sine both sides of P} ar egual [t "'i)/ P is tue -

INDOETIVE STER . We prove hat PIX) 'ifm]biiu P(k+1) , where K is o pesitive infegr.

PIK) is the statemert +hot

| ] | - k . . .

SR S o o—_— e induchue hypothesis
pwa Ax3 KIK+) (k) ( b )
p(kH ) is the statement that

O I -

L 2%3 K [e+1) L) k2 ) K+2

To  show thot PikH) 15 fvue we show thot LHS = RHS-

: = ko etz } 41
—l—.+_1_,+.+._|_._-.; I = J-q—__f_________ z l} .
N %3 klke) | (D (k) (erd (k) | (k) (K *2)
] algelro
= by prauchive },YF@%W;;’;_
kK S ak - {Ka-})-'{?:ﬂ) . K oy desived-
SO T O S LS B

e hawe wmpkﬁd the bosi> skp and +he induchive step , 57 mothemodieol  inducho
the stotement 15 true fer w‘?;'\j ]Je&HNe integer n.




